GARLAND

Service Bulletin

GARLAND

1177 KAMATO ROAD, MISSISSAUGA, ONTARIO, CANADA, LAW1X4

844.724.2273
WWW.GARLANDGROUP.COM

Bring Your Passion to the Surface

Subject: McDonalds PM Kits
Models: ME & MG Clamshell Grills

service personnel.

Maintenance and servicing work must be done by authorized

A Caution

equipment.

Disconnect electrical supplies before the installation of the kit. Risk
of burns from high temperatures. Use extreme caution to avoid
coming in contact with hot surfaces. Wear personal protective

A Warning

AWarning

Improper installation, adjustment, alteration, service or maintenance
can cause property damage, injury, or death. Read the installation,

operating and maintenance instructions thoroughly before installing
or servicing this equipment.

To our Service Partners,

The following is an update to our PM kits used in McDonalds for the ME and MG Next generation
Clamshell grills (with Touch Screen Control). The following kit can be used on either ME (Electric grills) or
MG (Gas Grills). You may have some of the original kits in stock, do not through away or try to return
them, as you will still use them.

The following Kits apply to ME/G Clamshell Grills based off each model (Number of Platens). The Existing
Kit will have a Single asterisk* showing what part was removed. As to the Updated Kit you will have a
double asterisk ** to what item/part was added.

To use Existing kits simple order the individual part marked with a double asterisk ** from the Updated

Kit list.

The new kit will come with an additional Arm Cover gasket, this is a Hybrid version. This seal will not fit
on some older units, so we kept the original seal in the kit. Please do not use both seals for arm cover.
You will also find pictures of each part at end of this document.

Service Kit PM, ME/G-1P Grills (Single Lane units)

Existing Kit 080000046 Updated Kit 4610073

Part Description Qry Part Description Qry

Number Number

4518261 Label Cert. Row 1 4518261 Label Cert. Row 1

4522374 Label, Pull Plugs 1 4522374 Label, Pull Plugs 1

4532394 Shaft Seal 1 4532394 Shaft Seal 1

4532733 Pivot Link Bearing 3/8”X1/4” 2 4532733 Pivot Link Bearing 3/8”X1/4” 2

4600605 O-ring, Seal cap to Shaft Tube 1 4600605 O-ring, Seal cap to Shaft Tube 1

4603181 Preventive Maintenance / 1 4603181 Preventive Maintenance / 1
Certification Checklist Certification Checklist

4604211 Gasket, Arm Cover 1 4604211 Gasket, Arm Cover 1

4604253 * Splash Shield ME/G 1 4604548 ** | Gasket/Seal Hybrid — Arm Cover 1

4604309 Clam Grill Grease 3.5 oz 1 4604309 Clam Grill Grease 3.5 oz 1

Document Number: GAR_SB_MCD.ME/G.PM.KITS —08/23

Page 1 of 5


http://www.garlandgroup.com/

Service Kit PM, ME/G-2P Grills (Two Lane units)

Existing Kit 080000047 Updated Kit 4610074

Part Description QTy Part Description QTy

Number Number

4518261 Label Cert. Row 1 4518261 Label Cert. Row 1

4522374 Label, Pull Plugs 1 4522374 Label, Pull Plugs 1

4532394 Shaft Seal 2 4532394 Shaft Seal 2

4532733 Pivot Link Bearing 3/8”X1/4” 4 4532733 Pivot Link Bearing 3/8”X1/4” 4

4600605 O-ring, Seal cap to Shaft Tube 2 4600605 O-ring, Seal cap to Shaft Tube 2

4603181 Preventive Maintenance / 1 4603181 Preventive Maintenance / 1
Certification Checklist Certification Checklist

4604211 Gasket, Arm Cover 2 4604211 Gasket, Arm Cover 2

4604253 * | Splash Shield ME/G 2 4604548 ** | Gasket/Seal Hybrid — Arm Cover 2

4604309 Clam Grill Grease 3.5 oz 1 4604309 Clam Grill Grease 3.5 oz 1

Service Kit PM, ME/G-3P Grills (Three Lane units)

Existing Kit 080000048 Updated Kit 4610075

Part Description QTyY Part Description QTY

Number Number

4518261 Label Cert. Row 1 4518261 Label Cert. Row 1

4522374 Label, Pull Plugs 1 4522374 Label, Pull Plugs 1

4532394 Shaft Seal 3 4532394 Shaft Seal 3

4532733 Pivot Link Bearing 3/8”X1/4” 6 4532733 Pivot Link Bearing 3/8”X1/4” 6

4600605 O-ring, Seal cap to Shaft Tube 3 4600605 O-ring, Seal cap to Shaft Tube 3

4603181 Preventive Maintenance / 1 4603181 Preventive Maintenance / 1
Certification Checklist Certification Checklist

4604211 Gasket, Arm Cover 3 4604211 Gasket, Arm Cover 3

4604253 * | Splash Shield ME/G 3 4604548 ** | Gasket/Seal Hybrid — Arm Cover | 3

4604309 Clam Grill Grease 3.5 oz 1 4604309 Clam Grill Grease 3.5 oz 1

Brendan Daly

Director of Service

Garland Commercial Ranges
Brendan.Daly@Welbilt.com

Document Number: GAR_ SB_ MCD.ME/G.PM.KITS — 08/23
Page 2 of 5


mailto:Brendan.Daly@Welbilt.com

Part # 4518261 — Label Cert. Row

DEBRANCH, ES F s ctr e AVANT D'EFFECTUER
trigqu N
R LES FICHES de |'alir F
‘ SHE
Seul o personnel qualifié est autorisé a enlever les panncaux extéer
entrotien des grilles intericures

eurs pour effectuay

Part # 4522374 — Label, Pull Plugs

Part # 4532394 — Shaft Seal

Part # 4532733 - Pivot Link Bearing 3/8”X1/4”

Part # 4600605 - O-ring, Seal cap to Shaft Tube

Document Number: GAR_ SB_ MCD.ME/G.PM.KITS —08/23
Page 3 of 5



Part # 4603181- Preventive Maintenance / Certification Checklist

Part # 4604211 - Gasket, Arm Cover

Part # 4604253 - Splash Shield ME/G

Grill Grease

Part # 4604309 - Clam Grill Grease 3.5 oz

Document Number: GAR_ SB_ MCD.ME/G.PM.KITS — 08/23
Page 4 of 5



Part # 4604548 - Gasket/Seal Hybrid — Arm Cover

Document Number: GAR_ SB_ MCD.ME/G.PM.KITS —08/23
Page 5 of 5



